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5.2.3

N

I:cos(N,x), m=cos(N,y), n:cos(N,z)

A . XY,z Sx, Sy,
Sz, S
2F=C

B e
SJdA- o dA | -7, dA-m-7,dA-n=0 S,=o,l+r,m+z,n
S,dA-7,dA-| ~o,dA-m-7,dA-n=0 ~ W) < Sy =Tyl +o,mtyn
S,dA-7,dA-| -7 ,dA-m-o,dA-n=0 S, =Tel+7,M+0,N

_/ -
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S =S +S/+S;

S*=7°+0°

o =|S-|N|=|3-codS,N)=S) + S m+Sn

=o |+ Gymz +o,N°+ 2(Txy| m+z ,mn+z,nl )
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S =oxl (GX—0)|+Tme+TZXn=O\

Sy:gxm_m:> t l+(c,-o)l+7,n=0
S =—oxn Tl +7,m+(oc,-—o)n=0
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o’ —(o, + o, + o,)o° +[lo,0,+0,0,+0,0, - (Tfy + 752 +72)]o

—loo,0,+2r, 7,7, - (o'xrjZ + O'yZ'ZZX + O'erzy)] =0

l,=0,+0,+0,

Vo

|, = (GXGy +o,0,+ 0,0,)— (rfy + rjz + rzzx)

_ 2 2 2
l,=0,0,0,+2r,7,7, - (foyz +0, T+ GZTXy))

3 2 _
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12 1

o, =0 |°+0o,m +o,n° = (ﬁ)z(a1 +0,+0,)

1 1 1
=§(Gl+0'2+(73)=§(Gx+0y+(72)=§|1

:O'm
182 }(01+0'2+0'3) ;(0'1+02+03)2
1

slo-0.) +(0, =0 f + (0 -]

1
Tg = ié\/(gl_o-z)2 + (61_0-2)2 + (61_0-2)2

T, = J—“gx/(ax -0,) +(0,-0,) +(0,-0,) +6(r, +7,, +7,)
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o = %|T8| - \/%[(51 ~0,) +(0,-0,)" +(0,— 7,)°]

= \/%[(Gx - O-y)2 + (O-y - O-z)‘2 + (Jz B O-X)2 T G(Tfy T T)Z/Z i TZZX)]

do >0

{do <0

do =0
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GX Txy TXZ GX Txy TXZ
= = %
Glj Tyx O-y Tyz Gy Tyz
_TZX sz GZ_ i * * GZ_

o :%(01+02 +03)=§(JX +o, +GZ):%I1 = const

o,— 0 Ty T, c, 0 O
O =| Ty o,— 0, t, |+/ 0 o, O
T, Ty c,—0, O O o,
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+—F V&

1 2 3

Il':(Gx_am)+(0y_0m)+(az_0m):O

, 1
|} = —6[(0X — Gy)z + (o, - c,) +(o,—0,)]+ 6(rfy + Tf,z +72)

o, — O Ty T S
' p— —
l,=| 7, o,— 0 7,
T, Ty c,— 0,

R A A r_2 r _2 r_2
=0,0,0,+20, 7,7, — (0,7, + 0T, +0,7)
!

r__ _ r _ — — —
o,=0,—-0, O0,=0,-0, 0,=0,—0,
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1
1) = _E[(Gl_o-z)z + (o, _03)2 "‘(0'3_0-1)2] ’
|3 = 0,0,0;
0,=0,-0, 0,=0,—0, O03=03—0
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5.2.9

Q Xy z Q

dx dy dz

Q' X+dx y+dy
z+dz
Q g i X
o, =1(XY, 2
Q X dx

of oo

.. =fT(X+dx,y,2) = f(X,Y, z)+&dx =0, +—dX
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Y F.=0

oo
(o, +—
OX

ot
dx)dydz + (z, + 6—yxdy)dzdx+ (7, +
y

—o,dydz—-7 dzdx -7, dxdy =0

oo, O0t, Ot

= YF,=0 > F,=0
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5.3.1

g-ﬁ.l.l P —— p
| e e e e
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| —1
g=—2 (%)
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/
2 3
S (L e LR —Inl+e)=e--+ S — ...
o | ¥ I, 503
-1l<e<1
k|>1
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5.3.1.2
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0 l«*wﬁ
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l, =1, >, >,

I3_|o

£ = e +E, tE3=

| -1, - | I I . e
S=|n2—"—2-"1=In2+In2+Int=¢g +¢g, +e&,;

Io 2'|1'|o 2 1 0

=& =100%=>¢ *=699%0 ;
=& =-5090 =¢ *=-69%0
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u

=ui +Vj +wk

= u(x,y,z)v=v(xy,z)w=w(x,y,z)
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5.3.3
1. (v =0)

-1 +1l,e—1,=0
lL=6,+e,+6,=6+6,+&
o=l )=l + 7 47 )= )
s =\68, T8, +6,6,)-Vy TV TVx )=\60E+ 83+ 636
|, = +2 —( ‘rey,+ 2)—
'3 gxgygz v xy7/ yz)/ X 8x7 yz gyy x 827/ xy ) 81‘9283

,=0

I\

+
7/1:i(52_53) , 7max:max(7/12’7/23’731)
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1
gm:_(€1+‘92+83):

3
Ex & 7/xy Y xz Em
Ei =] Vw £y, —&n Vv |+]| 0
| Y 2 7/zy gz_gm_ _O

:gij+5ijgm
e =0
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1
&g 25(51"‘52 +53): Em

Ve = i%\/(gx —&,) 4 (e, =) +(6,-8)° +6(ygy + 7y, +72)

= if_:;\/(gl —&) + (8- &) +(&5-&)

V2

EZ\/E7/8:%\/(gx_gy)z-i_(gy_gz)z+(gz_gx)2+6(7fy+7/§z+7/zz><)

= %\/(‘5‘1 - ‘92)2 +(&,— ‘93)2 +(& - 51)2
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E[G —ulo,+0 )y, ==
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E[G —ulo, +o )7, ===

1
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s 5.4.1 Tresca
s 5.4.2 Mises
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5.4.1 7resca
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1864

Tresca

01_02‘ = Oy

0'2—0'3‘20'5>

0-3_0-1‘20-5)

Os=0,—-03

Tresca
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5.4.2 Mises

iMises O'Sz\/%[(0'1—0-2)2+(0'2—o-3)2+(0'3—o-1)2]

o Mises H.Hencky
1924 o E
7,
1;5“[(0 6,2 +(0,~0,) + (o, a)]——é‘é
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(750 150 O]
o, =150 150 O|MPa

0 0 O]
1 Tresca 2 Mises o
0'1,2:%( X+Jy)i%\/(ax—ay)z+4rxy2

o, =78541MPa o0,=11459MPa o0,=0
(1) :0,=0,—0,;="785.41MPa
(2): o, =734.85MPa
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1870 B.Saint-Venant
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5.5.2

1 Ty
=—lo, - +
= lo o, + o )iy, =25
1 _ T,
‘9y :E[O-y_zu(az_i_o-x)]’?/zx :£><:>
i[0 —u(o, +o,)l; Dy
g0 726G,
E G Y7
1 + 1-2u
i = A~ O T ooy
2G E
o (Kronecker delta)
| =] o;=1 i=#]j 0. =0

2005-6-21

for

63



2005-6-21

64



i 5.5.3

m 0.5.3.1 Levy-Mises
m 0.5.3.2 Prandtl-Reuss
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5.2.3.1 Levy-Mises

+

Mises

G =0,

dg, +0g, +dg, =g +0kg, +dz, =0
de, =dg;

2005-6-21

de. =dgP

66
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Levy-Mises

L
2
de
o Mises o=
de; =o0,dA = dg; = §déaij
2 0o
Levy — Mises
de[ 1 3 dg_ |
d8X=;_O'X—§(O'y+O'Z):| dj/xyza';rxy
de | 1 3 dg
dé‘y:;_O'y——(O'z+O'X):| d)/yz—a-;ryz
dgzzdjg{az—l(ax+0'y)} d)/ZX—E-dTgTZX
c 2 ©
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5.5.3.2 Prandtl-Reuss

Levy-Mises
de, =dg; +deg;

. Prandtl-Reuss

§d§p
2 O

dgij :( )O'ij+—GdG--+
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Levy-Mises
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Prandtl-Reuss
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3der, .
i dgij = (E?)O_ij

de
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d/

]

J

Prandtl-Reuss
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method

5.6.1
5.6.2
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h
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dx
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g,
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